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Strayer University
Managing the Business Project -- BUS 517

Final Exam
Quarter:  Summer 2005, Arlington Campus

Instructor: Prof. Mort Anvari (202) 294-4230 – morteza@anvari.net 

Class Web Sites: http://www.anvari.net 

1.  Describe the bottom-up budgeting process.

Ans: Elemental tasks, their schedules, and their individual budgets are constructed using the WBS as a model.  The people doing the work are consulted regarding times and budgets for the tasks to ensure the best level of accuracy.  Initial estimates are made in terms of resources, such as labor hours and materials.  These estimates are converted to dollar equivalents.  Analytic tools such as the learning curve and work sampling are employed as appropriate to improve the estimates.  Once differences of opinion have been resolved, the resulting task budgets are aggregated to give the total direct costs of the project.  Then, indirect costs such as SG&A expenses are added along with contiguous the allowances and the desired profit.

Response: Refer to section 7.1, bottom-up budgeting.

Level: easy

2.  Explain why senior managers view the bottom-up budgeting process as being risky.

Ans: Senior managers may not be particularly trusting of ambitious subordinates who may overstate resource requirements in an attempt to ensure success and build empires.  Moreover, since the budget is an important tool for control of the organization, senior managers are reluctant to handover that control to subordinates whose experience and motives are questionable.

Response: Refer to section 7.1, bottom-up budgeting.

Level: easy

3.  Suggests some reasons why an organization would support projects that show a significant incremental profit over direct costs but are not profitable when fully costed.

Ans: Reasons for undertaking this type of project would include: developing knowledge of the technology, getting the organization's foot in the door, obtaining the parts or service portion of the work, positioning for a follow-on contract, improving competitive position, broadening a product line or a line of business.

Response: Refer to section 7.2.

Level: easy

4.  Explain why it is important to evaluate noncritical paths that possess large variances and/or path times that are close to critical in duration.

Ans: Assuming that the project is stable and under control, random uncertainty present in the network will exhibit cumulative interactions reflecting the inherent randomness of independent activities within the network.  Therefore, an activity having only a relatively small amount of slack could potentially exceed the critical time calculated from the expected critical path.  Moreover, as statistical variances rise in relation to expected duration, the range of uncertainty in near critical paths will exhibit wider dispersion.  When interdependencies are present in the network, simulation is an effective technique for modeling the random interactions on critical and near critical paths.

Response: Refer to section 8.2, uncertainty of project completion time, and merge bias.

5.  Explain the meaning of slack in a network.

Ans: Slack is synonymous with float.  Slack is the amount of time that an activity can be delayed without delaying completion of the project.  In order to have slack, the activity will not be located on the critical path of the network.  An activity with slack can be classified as a near critical activity because the amount of slack is small in relation to the time required to complete the path it is in.  Should it become necessary to crash a project, it may be possible to borrow resources from activities that have slack.

Response: Refer to chapter 8.

Level: intermediate

6. Describe the process for determining the critical path in a network.

Ans: Draw the network and determine the logical relationships between the activities in it.  Determine the duration for each activity.  Perform the forward pass calculation to determine the critical time for the network.  Perform the backward pass calculation to establish the slack for each activity in the network.  If an activity has 0 slack, then it is a critical activity.  The critical path is composed of the critical activities identified in this manner.  It is possible to have more than one critical path in a network.

Response: Refer to chapter 8.

Level: easy

7.  Describe the basic procedure for resource leveling.

Ans: Identify the type and quantity of resources that are required to complete activities in the network.  Once the logical relationships between tasks and their duration have been established, resource assignments will establish the initial load required to accomplish the work.  Working within project constraints for time and resources, fluctuations in load for each resource will be minimized.

Response: Refer to section 9.4, resource leveling.

Level: easy

8.  Suggest some options for leveling the load placed on resources.
Ans: Leveling demand arrival patterns would be one possible option.  If this were not possible, personnel could be asked to alter working hours to accommodate the demand arrival patterns.  The third possibility would be to hire temporary workers to handle peak demand patterns exceeding the internal capacity of the organization.  It is also important to allow for unexpected delays associated with resource availability problems.  For example, is generally unwise to load scarce resources with demand exceeding 85 to 90 percent of the resources’ available capacity.  Thus, if future load will consistently exceed the existing capacity of the organization, it may be appropriate to hire additional resources in the affected resource category.

Response: Refer to section 9.4, resource loading/leveling and uncertainty

Level: intermediate

9.  Discuss some other causes of the strong optimistic bias in a project schedule.

Ans: An overly optimistic project manager simply ignore the need to perform risk management.  When problems arise, this category of project manager treats the problem as an act of chance that cannot be forecasted.  When senior managers refuse to recognize that the capacity to undertake projects will need to exceed the demand for projects, then resources will become overloaded.  Goldratt described the student syndrome as a scenario where students always want more time to complete a project.  Then, the project will be delayed until the last possible moment.  Multitasking to reduce idle time actually increases the amount of time it takes to accomplish work.  The perception that people need a reason to work hard will often result in arbitrary reductions to the allotted time to complete activities.  To mitigate the impact of arbitrary cuts in the schedule, game playing may take place during planning.

Response: Refer to section 9.7, Goldratt’s critical chain.

Level: intermediate

10.  Suggest some practical measures that can be used to improve the perception about the benefits of meetings.

Ans: The following rules can help remove most of the onus associated with project meetings.  Use meetings for making group decisions or getting input for important problems.  Avoid show-and-tell meetings that function as status and review meetings.  Have a written agenda with preset starting and stopping times.  Make sure that attendees have done their homework prior to the meeting.  If you chair the meeting, take your own minutes.  Distribute the minutes as soon as possible after the meeting.  Avoid attributing remarks or viewpoints to individuals in the minutes.  Do not report votes on controversial matters.  Avoid overly formal rules of procedure.  If a serious problem or crisis arises, call a meeting for the purpose of dealing with that issue only.

Response: Refer to section 10.2, meetings.

Level: intermediate

11.  Describe the three common difficulties in the design of project reports.

Ans: First, there is usually too much detail, both in the reports themselves and in the input being solicited from workers.  Unnecessary detail usually results in the report not being read.  It also makes it difficult to find needed information quickly.  Moreover, the demand for large quantities of highly detailed input information often results in careless preparation of the data, thereby casting doubt on the validity of reports based on such data.  Second, there may be a poor interface between the project information system and the parent firm’s information system.  In many respects, the project manager will be expected to report costs and resource usage in a manner compatible with the parent firm's information system.  Third, there may be poor correspondence between the planning and the monitoring systems.  If the monitoring system is not tracking information directly related to the project’s plans, control is meaningless.

Response: Refer to section 10.2, common reporting problems.

Level: intermediate

12.  When using earned value analysis, identify the three conditions that can exist with respect to the completion of activity in a project.

Ans: At a specified point in the project lifecycle, some work units have been finished and are 100 percent complete.  At the same point in time, some work units have yet to be started and are 0 percent complete.  The remaining work units have been started but are not complete.  For this group of work units, it is possible to estimate a percent completion.

Response: Refer to section 10.3, the earned value chart and calculations

Level: intermediate

13.  Identify some of the factors that can cause a project to require control of cost.

Ans: Potential factors suggesting a need for control of cost include: technical difficulties require more resources, the scope of work increases, initial bids or estimates were too low, reporting was poor or untimely, budgeting was inadequate, corrective control was not exercised in time, or input price changes occurred.

Response: Refer to Chapter 11, introduction.

Level: easy

14.  Identify some of the factors that can cause a project to require control of time.

Ans: Potential factors suggesting a need for control of time include: technical difficulties took longer than planned to solve, initial time estimates were optimistic, task sequencing was incorrect, required inputs of material, personnel, or equipment were unavailable when needed, necessary preceding task were incomplete, customer-generated change orders required rework, or government regulations were altered.

Response: Refer to Chapter 11, introduction.

Level: easy

15.  Describe the two fundamental objectives of control.

Ans: The two fundamental objectives of control are: the regulation of results through the alteration of activities, and the stewardship of organizational assets.

Response: Refer to section 11.1.

Level: easy
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